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. The ﬁgures ln the margln indicate full marks
B ' fOr the questlons

l. Answer the follo ucstwns (Within 50 words
: each) : | mg 1 | 2x4=8

. (a) Define thg; "modém Adg,ﬁnition of census.
(b) Define the rais of Vital event.

- (c) Why is Infant Mortality Rate (IMR) been
called the mogt sensitive of all measures of
. Mortality 9

(d) Define the term eqmty in the sense of
economics of education.
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(c) Discuss the basic issues op modern criteria

Answer the following ‘questions : 5x4=20

" (a) Define the . °bj§cﬁVé$ of the census.

Distinguish betweéen de-facto and "de
method of countlng population,

(b) Define -the. aSCiiBEd and
characteristics of Population,

-j ure

achieved

(c) Explain: why':-mortaljty Sit"uations‘- of two

different places cannot usually

_ b d
on the basis :__of CDR. € compare

@ Diﬁ’ereﬁt’iate'__Al.’ietWeen the privage and social
rate of return. o ‘nvestment in edycation.
Answer any two of the fdlowing questions :

| o 10x2=20
(a) What is pqpulftt};?n PYOamid? spow how,
fertility, mortality and migryiiy, affect the
size and shape of populatio, pyramid
' § 2+8=10
(b) What is life table ? Explajy o
| o 347=10
for judging the adequacy of
finance.

(d) Establish the relationship betw |
economic development, een health and

educational
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4. Answer the following questions :- 16x2=32

(a) Contrast the pattern of population changes in
developing countries with that of developed
ones in terms of demographic transition.

Or

Indicate the types of error that are usually
found to occur in census data. How would
you adjust for such errors ?

Given the information in the table calculate
(i) ASFR

(i) TFR

(iii) GRR

assuming sex ratio at birth is 105 males
babies per 100 females babies. 6+10=16

Age Group  :[15-19 | 20-24 | 25-29| 30-34
No.of Birth .| 10 | 57| 49 | 34
No. of Women | 360 | 387 | 336 | 351 |

AgeGroup  .|35-39[ 40-44
INo. of Birth .| 10 2

e s———

No. of Women :| 357 | 391

me—r——=
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Answer the following questions : 5x4=20

* (a) Define the .objectives of the census.
Distinguish between de-facto and " de-jure
method of counting population. |
(b) Define the’ aSCi'iBC;d and achieved
characteristics of population, -
(c) Explain- wh_y':'mOIftality' situations - of two
: different places cannot usually p d
on the basis of CDR. Y be compare
(d) Differentiate between the private and social
rate of return. 10 investment in edycation.

Answer any 1W0"{"0f f.hé fOllOWing' questions :

| SRR 10x2=20
(a) What is pQQﬂ?Q?n PY¥ramid ? Show how,
fertility, mortality and migration affect the
size -and shape Of Population pyramid |
‘ N 2+8=10
(b) What is life table? Explain jt5 oopumns
. ' 3+7=10

(c) Discuss the basic issues of poqe  ooco
for judging the adequacy ¢ educational
finance. :

(d) Establish the relationship begy -
economic development, en health an
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- 4. Answer the following questions:  16%2=32

(a) Contrast the pattern of population changes in
developing countries with that of developed
ones in terms of demographic transition.

Or

Indicate the types of error that are usually
found to occur in census ‘data. How would
you adjust for such errors?

Given the information in the table calculate
(i) ASFR

(ii)) TFR

(iii) GRR

assuming sex ratio at birth is 105 males
babies per 100 females babies. 6+10=16

Age Group :[15-19 | 20-24 25-291 30-34
No. of Birth :| 10 57 | 49 34
No. of Women| 360 | 387 | 336 | 351 |

AgeGrop  :[35-39] 40-44
'|No. of Birth ;| 10 | 2
No. of Women :| 357 | 391
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(b) Explain how ‘Refurnto Education” is estimated
using cost-benefit analysis, How would you
distinguish betwegn social and private returns
to education ? .  10+6=16.
Briefly explain the functions and principle of
primary health care. Also discuss the challenges

' faced by PHC in developing countries like - -
India. v  s48=6
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